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, 2022
MATHEMATICS — GENERAL
Paper : GE/CC-1

Full Marks : 65
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[English Version]
The figures in the margin indicate full marks.

Answer question no. 1 and any nine questions from the Test,
: talcmg at least one questlon from each unit.
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0 represents a pair of

lin (i) coincident straight lines

1 (iv) none of these.

i til!}gent plane to the sphere x2 + )2 + z2 =49 at the point (6, -3,-2) is

: (i) 6x—3y+2z=49

(iv) x + 4y + 3z = 49.

ion of family of curves y =e™ (4 cosx + Bsinx), where 4, B are arbitrary
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(iv) cos 2u.
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e 6,9, 0, B are reals, prove that 2c0s20 = ¢20 + ¢20_ 4¢2,
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(Differential Calculus - I)
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homogeneous function of two variables
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=1, where a+ b =c (c is constant and a, b are parameters)
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Unit - 4
(Coordinate Geometry)
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tangent planes to the sphere x2+y2+22—2y—6z+5=0 which are
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